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QUESTION 1

In which two layers of the OSI model are WLANs located? (Choose two.) 

A. Network 

B. Transport 

C. Physical 

D. Data Link 

Correct Answer: CD 

Reference: https://www.controleng.com/articles/wi-fi-and-the-osi-model/ 

 

QUESTION 2

What information would be streamed through webhooks? (Choose two.) 

A. location coordinates of RFID tags 

B. alerts 

C. SLE metrics of clients 

D. audit logs 

Correct Answer: AD 

Reference: https://www.mist.com/documentation/webhooks/ 

 

QUESTION 3

Some users cannot connect to the network. You want to identify these users. In Marvis, which query accomplishes this
task? 

A. troubleshoot access points 

B. unhappy clients 

C. troubleshoot clients 

D. list clients 

Correct Answer: D 

Reference: https://www.mist.com/documentation/useful-marvis-queries/ 
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QUESTION 4

Referring to the exhibit, what do you determine about the site\\'s Time to Connect SLE metric? 

A. Fifteen percent of the Time to Connect failures are related to associations. 

B. Successful connections averaged 4.6 seconds. 

C. Time to Connect Association failures impacted 15% of users. 

D. Clients cannot connect to the Internet 

Correct Answer: A 
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QUESTION 5

What is the purpose of a Probe Request frame? 

A. to discover all clients associated to a particular WLAN 

B. to discover all WLAN devices on a particular channel 

C. to discover available WLANs 

D. to associate to a WLAN 

Correct Answer: B 

Reference: https://www.juniper.net/documentation/en_US/junos-space-apps/network- director3.1/topics/
concept/wireless-scanning.html 
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